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QUESTION 1

Click the Exhibit button. 

Missing Exhibit 

Referring to the exhibit, how many received packets are classified as exception traffic? 

A. 20814681 

B. 14442602 

C. 12417 

D. 27824 

Correct Answer: B 

 

QUESTION 2

Click the Exhibit button. 

Referring to the exhibit, which next-hop interface will be used to reach the 10.21.14.16 destination? 

A. ge-0/0/3.0 

B. ge-0/0/0.0 

C. ge-0/0/2.0 

D. ge-0/0/1.0 

Correct Answer: D 

 

QUESTION 3
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What information would you find using the CLI help function? (Choose two.) 

A. Junos technical publications 

B. explanation of traceoption events 

C. tip for the day 

D. explanation of specific system log error messages 

Correct Answer: AC 

  

 

QUESTION 4

Which command causes the Junos OS temporarily activate a configuration? 

A. commit check 

B. commit synchronize 

C. commit confirmed 

D. commit and-quit 

Correct Answer: C 

 

QUESTION 5
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You notice traffic destined to 172.31.17.0/24 is traversing an OSPF path rather than a BGP path. Referring to the
exhibit, what is causing this behavior? 

A. The 172.31.17.0/24 BGP route has a higher route preference. 

B. The 172.31.17.0/24 route does not have a valid BGP entry. 

C. The 172.31.17.0/24 BGP route is missing a valid default next hop. 

D. The 172.31.17.0/24 BGP route\\'s outgoing interface is down. 

Correct Answer: A 
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